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1. (a) Fill in the blanks with appropriate word/words : (any four)

Belgw %A SR o2 W (e w6
il Income and Expenditure Account is prepared on basis.
. 1

w25 fefas wwe = @ |

(i) Liability of a pariner is : 1
T EA A G ST |

(iii} Annual Report is issued by a company to its : 1
«O s e o = fafF 2|

(iv) Liquid ratio is the relationship between ____ and current
liabilities. 1
T A E BETe (R T I

(o) Equity shareholders are ____ of a company. 1
FAfEelE MR T T A |

(b} Choose the correct altemative ;
un e ang =
i) When a new pariner is admitted — 1

AfET S A% ST =FE T —
fn} Consent of all the partners is required.

TR W e AR ST |

) Consent of majority of the partners is required.
afTTE W T He 2 |

{r} Consent of any one pariner is required.

it IRt B s = S s
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(1)) Balance of shares forfeited account after re-issue is transferred
to — 1
s e fers e wvm en Tye g R m—
(e) Reserve Fund
s Afet
() Profit and Loss Account
FrE-(Alebia [t
() Capital Raserve
| ST

() State whether the following statements are “True” or “False’ : fany two)
T GewE e o uew” B (e g

(1)  Outstanding subscription is an asset. 1
AARET sees Tay o) e
(i} A Preference Shareholder gets interest at a fixed rate, 1

g miiTEETTE animA G5 Wi T T A

(i) Company's shares are generally transferable. 1

AR AT FETS SR |

(i) Lite membership fee is a capital receipt. 1
WIS G WipE TN 4% P
2.  Mention fio features of a not-for-profit organisation. 2
wie el afewEm wir TR B =
3. What is Profit and Loss Appropriation Account ? 2
S (ARGR BeTE e &
4.  What is the meaning of Cash Flow from Financing Activities ? 2

‘Tl TR o R a5 e 2erEe wd
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10.

Mention any two features of a debenture. 2
Quieiad iz FhT CaTE SR |

Mention any two rights of a partner. 2
A aEee R T SiaeE G

A and B are partners sharing profits and losses in the ratio 3:2.C is
admitted into the partnership. A surrendered ¥ rd of his share and B
surrendered ¥ th of his share in favour of C. Determine the new profit
sharing ratio. 3

A Ti% B FIW TR EE (SEEATE 3 2 WA HE-[FEDE AT #H |
C-% g GO e (R 2 | A-(A (9T WU g Wi B-CR (T2 WeE
f:!ﬁﬁc:hwwmﬂ%wﬁmnimﬁrwaaﬂﬂawquﬁﬁhamn

OR/ &

Write Hirer distinctions between Fixed Capital Account and Fluctuating
Capital Account.

fom o il WA W e iR wwe e [ERE Hde e

Explain three uses of financial statement. 3
G siferasm fEEm gaea e =4
Mention amy tiree objectives of preparing Comparative Statement, 3
wertE dftrem s e oo Tret B 34|

OR/ %=

A company’s stock is Rs, 2,00,000. Total liquid assets are Rs. 8,00,000 and
quick ratio is 2:1, Calculate current ratio.

B! oA WIS 2 2,00,000 1 o TR FeE AR T 8,00,000 S
v TS TEE 2 1) 6w Rl =

Explain the following terms : 3
WA AR AT T G

(i) Capital Fund

e e
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11,

(i) Life Membership Fee
HlSien ST e
(i} Entrance Fee
wE wpm
OR/ 7%
Write Hiree features of Fund Based Accounting,
Aafsies fsemm B ke S
OR/ 7%

Caleulate the amount of stationery consumed to be shown in the Income
and Expenditure A/c for the year ended 31st December, 2020 —

aihﬂ.mmmwﬁmﬂmmﬁmﬁmmw
W ga—

01-01-2020 31-12-2020
Creditors for stationery 4,000 6,20
WATZITA AT oieaE
Stock of stationery 5400 3,000
AR T

During the year 2020 payment made for stationery was 240,000
2020 757 fowms WAERR I 40,000 T wRe o) TofE )

Write Hiwee differences between Renlisation Account and Revaluation
Account, 3

TR @51 WA e B srws o R v B
OR / &=y

Write any three uses of Cash Flow Statement.

T Hare Hierws S GET T e |
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12, Prepare Income and Expenditure Account from the following Receipts
and Payments Account and other details of Surya Club for the year ended
31st December, 2019 3

31 forpea, 2019 Eficy wuwr i E o FRe TS - e W
e S o FHm A A foe o G

Receipts and Payments Account

Dr. (erat-wan TEe) Er.
Receipt (59) (2) | Payments (975) (%)
To Balance b/d : By Salaries 12,000
(uirER TgE) (v
Cash-in-hand 10,000 | By Honorarium 3,000
(e =70) (=)
To  Subscriptions By Travelling Expenses 2,000
() (= )
2018 - 400 By Telephone Charges 5,000
2019 — 19,000 ( (e w5)
2020 — 1,000
20,900
To Sale of newspaper 100 | By Investment 10,000
(arsfaaey ) (=)
To Life Membership Fee 5000 | By Construction of Building | 7,000
(st wEl WiE) (=2 fordiel)
To Donation (%) 6000 | By Rent (%1%0) 2,000
To Donation for Building] 8,000 | By Postage (Ti%) 1,000
(= TER W ) By Balance c/d:
To Interest (%7) 200 (A T )
To Maintenance Grant 2,000 Cash-in-hand (=¥ =) | 11,200
(Al )
Ta Sale of Pumniture 1,000
(w5aE FE)
53,200 53,200

32T ACOU [&]



Other detnils (Swmay RiaTd) -

(1} Outstanding Salaries — % 1,000
R wEE — 1,000 B

(it} Subscription outstanding — % 2,000
I T — 2,000 5

(i) Subscription for 20019 received in 20018 — 3200
201974 e 2018 © (AR 12| — 200 5

OR / 7%
. Write fire distinctions between Receipts and Payments Account and
Income and Expenditure Account. 5

o 245 fplel . wm-am EeeE e o AiED HieEE e

13.  Explain the method of calculating “Cash flows fram Operating Activities”

under direct method, 5
HETE AR A ARAE Il o[ i Haea fef = smafe e
a4l |

OR/ F%

Calculate cash from operating activities from the following information :

TS P TUA A9 TEiiEE TEEEeR fE e s H=Ee e =

2019 (%) 2020 (%)

* Profit and Loss A/c. (FrE-(FeS= [E51) 000 5,000
Debtors (GF1HR) 87,000 50,000)
Bills Receivable (21 &) 62,000 1,083,000
General Reserve (FHR9 "iﬁi} 202,000 237,000
Salary Qutstanding (R w07 ) 30,000 12,000
Wages Prepaid (=i =ve wgf) 5,000 7,000
Goadwill (Far) RU,000 70,000
Cash and Bank Balance (=99 %iF (a%9== T%€) - 30,000 30,000

32T ACOU [7] Contel.



14. What is Ratio Analysis ? Mention any Hiree limitations of ratio analysis.
2+3=5

welTE e ¢ sepre Boges A R0 e T =1

OR / za

Briefly explain the meaning and significance of any fuv of the following
ratios — Land=

wore f oo ficar i wd Sk o3 SR I —
(i) Debt-Equity Ratio
wHe| Faloe TATE
(ii) Gross Profit Ratio
g5 TSR WA
(i) Quick Rabo
A e

(ir) Stock Turnover Ratio
TES ) SIS G

OR / 7%=
Cost of Goods Sold — 2 3,00000
fEEA Fwd FEE
Stock Turnover Ratio — 6 fmes

TFE AR TSR T (6 =m)

Find out the value of Opening Stock, if Opening Stock is 210,000 less than
the Closing Stock. - 5
=% e e sl AR TEE AEiE 10,000 T = @, T el Ty
Ao = R =

32T ACOU [8]



15, From the following Income Statement, prepare Common Size Income
Statement and give your comments ;

3

TER A I W, BT e wiwa e e o e curaE

TS SRR

Particulars 2018 () | 20019(3) Particulars 2018(2) | 2019(2)
() (faa)
To Cost of - By Met Sales | 120,000 1,45,000
Goods Sald 95,000 | 1.05,000 | (erpw FaFl)
() s
EFEE)
To Gross
Profit ¢/d 25,000 | 40,000
(52 =7% )

| L.20, 145,000 1. 20,000 1,45,000
To Otfice By Gross
Expenses 2,000 8,000 Profit b/d 253,000 40,000
(FEA <=5 (5 =ms)
To Distribution
Expenses 3,000 5,000
(== = 5)
To Met
Profit ¢/ d 20,000 | 27,000
(#pT e )

25,000 | 40,000 25,00 40,000
OR / 7z

Give the new format of the Balance Sheet of a company (main headings
only) as per the requirements of the revised Schedule-VI of the Companies

Act,

s =T ofApies wifFe -V i @bt EreeiTE TaeR wee SEEm)
(R 0 FoEEgE) oFe 4

32T ACOU
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OR / A%

Give fire points of distinctions between under-subscription and over-
subscription.
= TS TR e g wee 9l HEe e S|

16. A, B and C were in partnership sharing profits and losses in the ratio of

3:21. On 1st January, 2020, B retired from the firm. On that date their
Balance Sheet was as follows : 2+3=5

A B mccﬁsmiwmwmiﬁﬂﬁﬁmaﬁm:
1 EWRAL 2020 A B (8 S vl SR ae SR (L SR (Selar
TyEAT TS ) S i

Balance Sheet (598 #14)

Liabilities (1) () Assets (7=ifE) (2)
Creditors 27180 | Cash (%5 ) ' 9400
(AEHE) Debtors { FaFA) 16,000
Capitals :

() Stock (455 ) 23,380
A @ 30,000 Building (&59) 46,00K)
o e Profit and Loss A/c 2,400
' 70,000 | (ere-caresR fEBIe)
97,180 97 180

The terms of the retirement were

wE TS W

i) Building is to be appreciated by 2 14,000
w3 14,000 5 0 F 25

(i) Provision for doubtful debis is to be made at 5% on the debtors.
TR evEE 5% e W offe a2

(iif) The goodwill of the firm i to be valued at 3 36,000,
bR TR T 36,000 TEE T/ 29

T ACOU [10]



fir) No cash is to be paid to B immediately and balance of his capital
account is to be transterred to his loan account.

BT 7917 & SRR A R TR W (56 e i e
(@eq e fapela TWr 9 5|

Prepare Revaluation Account and Partners' Capital Account,
st fptel wie el e B age |
OR / 7T

. Write the uses of securities premium amount.

sfegie g e IR o

17. P, Q and R were in partnership sharing profits and losses in the ratio of
4-:3:3. On 31st March, 2020 their Balance Sheet was as follows : 5
P, Q W% R 4:3:3 Woies me-FR6k R oo o ueive
wifgs | 31 95, 2020 T sdres e Tere T s i o

Balance Sheet (%%@ @)

Liabilities { 1) () Assets (F7915) (%)
Creditors { AAeamd) 87000 | Fixed Assets (¥F #={fg) | 2,90,000
Reserve (AlEE #fF) 33,000 | Stock and Debtors 85,000
Capital Accounts : (WEPS #el W (R )

(g7 o) Cash (759 15,000
P :1,05000
Q@ 85000
R : B0 270,000
3,90,000 3,90,000

'Q' died on 36,2020, Under the partnership agreement the executors of a
deceased partner were entitled to

0.6.2020 TFeE Q-7 TI = s I wvee afeff 1 e

fa}  Amount standing to the credit of deceased partner's capital account.

Te vl g R efehe e aeg i

32T ACOU [11] Conld.



(b

(c)

(el

Interest on capital @ 12% p.a.
Al 12% LT R GHEE HE)

His share of goodwill, The goodwill of the firm on Q's death was
valued at ¥ 2,770,000,

(add T e | Q- TEE dfEveE SRR YR 270,000 bars =)
5HI1

Share of profit from the closing of the last financial vear to the dale
of death on the basis of last year's profits.

feiere ae wied fofs Aeme awa el e o gem wisine [ee
Lo I

The profit of the firm for the vear ended 31.3.2020 was #2,40,000.
31.3.2020 =ifsre s R aE Ao T s =iEE 2,.40,000
b1

Prepare Q's capital account on the date of his death.

Q% Tz Ty (wda grs fE5ew ogE a4

OR/ %7

Distinguish between Profit and Loss account and Profit and Loss
Appropriation account. 5
AIE-EEGH G5 TR FE-(FRDW SALues Zhiva WiEw fidamEE B

18, What is Realisation Account ? Write Hiree cases where a partnership firm

Tay

be dissolved by a court. 2%3=h

T e T ¢ e SRR v WO e WA 2 o) fERE
TEPA B |

3T ACOU
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OR/ T2

Amal and Bimal are two partners in a firm. They share profits as 3:2
Following is their Balance Sheet as on 31st March, 2021 on which date the
firm is dissolved :

e W B oun ofedea geiivE | cedmTe 3:2 SETE A5 T WE)
11 Wh, 2021 Wi @dmea W wee s, @ e ofersem

WA =2
Balance Sheet (B9 @)

Liabilities (c#at) (2) Assets (7if&) (2)
Creditors (&) 20,000 | Fixed Assets (2@ 7if) 30,000
Reserve (705 %) | 5,000 | stock (g ) 10,000
Sapitals - (R Debtors ( (W) 15,000
| Cash () 300
Bimal : 15,000 Profit & Loss A/c 2,000
() 35,000 | (-GS f2511)

60,000 50,000

Fined Assets are  realised at 2 28,000, Stock at F 8,000 and Debtors at
T 13,000, Expenses on realisation are 2 1,500. Creditors are paid at a
discount of 10%.

I FewEraE B R 28,000 el Coe o | TEE W oE 8,000 T W
M o 13,000 B (R %W TEIMESRRE sRER efme 1,500 T
WieawETEAE 10% [T Ay I T |

Prepare Realisation Account, Partners' Capital Account and Cash Account.
' 242+]=5

TR e, Seime e faie W A e o

32T ACOU [13] - Conitil.



19. Pradeep and Pranab are partners in a firm. The Trial Balance of the firm
as on 31st March, 2020 was as under : 8

ot T T o dfega wewE | 31 W6, 2020 Tty SfebeeE e
FiEFsiE B9 A = 3

Trial Balance (TH@ T )
_ Debit {2) Credit ()
. Capital ; {¥7%)
Machinery (%5#i7%) 54,000 PF"radt?E'!p 50,000
Goodwill {7FFR) 10,000 { efitef)
Patent (A5) 20,000 Pranab - 40000 | oo
Sundry Debtors 21,000 (u)
(Rl G Sundry Creditors 5,000
Cash in hand (%% a1) 1000 | (Bl snsamiE)
Closing Stock : 2500 | |nterest on Investment 400
(AR TEE =) (Ffmam eome 79)
Investment (FRNeT) 10,000 :
Depreciation on Machinery| 6,000 | Sundry Reccipts (Rifa anfe) 200
(ageifER aoFe W) Bills Pavable (2w =) 2,000
Rent (©T%!) 0,000 | pank Overdrait 10,000
Carriage Outward 1,000 (A WERER)
; ) ; Outstanding Wages M)
Taxes {99) 00 e Wﬁ}
koop S i Trading Account :
(HfEieR =)
oAl (- fesiet)
Commission (F951) BOO Gross Prilit (305 91E) 21008
Drawings (=) & i g iqun
Pradeep (2F1%) 5,000 Discount (2181)
Pranab (27) 4000 9000
Salaries (FE%) B.AKX)
Bank Charges (@%@ =45)| 100
1,80,000 1,80,000

12T ACOU
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Prepare Profit and Loss Account, Profit and Loss Appropriation Account
and the Balance Sheet of the firm for the vear ended 31st March, 2020, after
considering the following information :

wATE T wuE RS 2T 31 7, 2020 SRS SErE) @ A - -

Fai,
(i

(1)

(fat}

(i)

2. )

()

fic)

fd)

31T ACOU

Are-cREE Berurse fiste W Tyeeae T 4 L

Write off 3 1,000 as Bad Debt and provide a 5% Provision on Sundry
Debtors for Doubtful Debts.

1,000 53 wgwrain we RBore o 29 9 @Ry oRREE ooFE 5%
s waelfE sm =i B

Interest on Investment Accrued 2 600,

faffrais GoE ARERE 600 T FE

Interest on Partners' capital is allowed @ 3% p.a.
weliviEE T GO T8 5% YR T M

Create a General Reserve by taking % 5,000 out of profit

S o 5,000 521 TR @ s o S T A |

Write hwo differences between Authorised Capital and Issued Capital
of a company: 2

&5 Rt e Tee . R e e ghr Ak
What is Minimum Subscription ? 2

e weele O oo

What is Reserve Capital ? 2
i A s
What is Call-in-Arrear 7 2

S Roa e o R T

[158] - Comid,



21. Give

OR/ 3=

Arnab Company Ltd. issued 10,000 equity shares of ¥ 100 each at 2
premium of 10% pavable as under : 8

T 30 on Application
2 &0 on Allotment {including premium)
F 20 on call

Kamalesh holding 400 shares failed to pay the allotment and call
money and Monalisha holding 70 shares failed to pay the call
money.

Show the Entries in the Cash book and Journal of the company for
the above transactions.

mefa v ERbre wfi=E 100 B T 10,000 WR mReE 10%
wigas & | e wee T g @ SR S0

A B WEeE #6E
60 T (mifEER TArE) wEheR fME
A 5 =R T

mmwmmwmmwmmﬁﬂmmﬁﬁm
T = WM A e TR o we R R

VoS (FEETIE ATA GRE 3EE s 2R us gian 9RbR
fran

Journal entries for issue and redemption of Debentures in respect of

the following : B

=
(a

32T ACOU

firm) wrrgrTeR A e BE wm sfEeme o =ER Fe
Debentures issued at a discount and redeemable at premium.

wiijeiae AfirE e me wfrgae sfdny

[16]



b} Debentures issued at premium and redeemable at premiom,
eIy TiEs AT O ot AReiy

fe}  Debentures issued at par and redeemable at par.
weleliA e A am ATEre o€ |

(d} = Debentures issued at premium and redeemable at par.
wepeiay wiagrre flFe B SRS SR |
OR/ 7
What are the differences between a shareholder and a debentureholder ?
T TR A W S5 e W e &
OR / 7E=t
Explain different methods of redemption of debentures.
elef AR BEn ermlevr o =)

22. Ram and Mohan are partners sharing profits and losses equally. Their

Balance Sheet on 1st April, 2021 was tollows B
A A (315 ADA FE WA RGE D0 = |uiEE | 1 afE, 2021 s
(@ErERe THEeEee weTe Wul 9T i |

Balance Sheet (898 #ia)

Liabilities { (i) (T) Assets (F==(fE) (%)
Sundry Creditors 15,000 | Cash (57%5%) 5,000
( Ry ream) Debtors { GFHH) 16,000
Capital (¥%} ;

# Stock (W) 12,000
Pam v 40,0000 :
(1) Machinery {¥2#1%) 22,000
Mohan @ 30000 Building (%% ) 30,000
( A= ) R A 17 ()
85,000 85,000

32T ACOU [17] Comfad.



They decided to admit Sanjoy into partnership for 1/3rd share on the
following terms :
(EEETE 1/3 T T3 FETe TR e Efer wedid] aere aude
i P = o
(i) Machinery and Buildings were revalued at ¥ 20,000 and 2 42,(K0
respectively.
AN T SR W T g @ 20,000 Fa wEe 42,000 T arg
| we |
fi) Creditors were reduced by ¥ 2,000,
IR FEEE 2000 DA gH w4 1)
(i) Provision for doubtful debts on debtors is to be created at 3 1,000.
(AR e 1,000 BIR AR G s ) 9
(i) Sanjoy is to bring in 2 40,000 as his capital and 2 24,000 as premium
for goodwill.
AT 40,000 5 T T 24,000 TR s i GEs wite =i
Pass Journal entries for the above information and prepare Balance Sheet

of the firm after the admission of Sanjoy.

THANE TUPE A G o= T wm o wwtiea e afehee e
e AFE A |

(7]

32T ACOU
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P

Write any Hrree limitations of partnership business.
] AT e fEnE A f |

[18]



{ti} Explain friv factors affecting the goodwill of a firm. 5
TN SR e coER o 0T S T e

OR / izt

Distinguish bebween dissolution of Partnership and dissolution of
Partnership firm. B

WA SR % WA SRR SRR W o B

A2T ACOU [19]
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